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Grade 11 AP Mathematics
Unit 4 — Major Test — Polynomial Functions

Semester 2, 2016 - 2017
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1. Use end behaviours, turning points and eros to match’each graph to the most likely polynomial equation. (4 KU)

y=X(2X3—3x2+3) y=x(x—1)(2x—1)—2
y=—X2+5X+4-\ N_YZXS—XZ-%X—Z
B Y

A A~y C y
8 24
&7
X
4- 4 DJi 4
, g L\ |
S =2 2 = f 4 X 8 !
W - N ]
Equation: (ZI \/ Equation: ~/ Equation: .b ‘/

241 (a) End Behaviours (h) Number of Turning
o0k AS X—300. V> Points (Mark the
161 VD=0 turning points on the
i graph)
t2r As X —>—0, y >=00 /
o =% 3
4_
L 1 1 ﬁ\- 1 1 1 1 1 1 1 1 1
Py '1_42 123456488390 (4) Intervals of Increase (e) Intervals of
8l - - Decrease
o (-o,=1.1)/ Yy
15} (')5:3) (_5 S)OO)
20k

a P pYoxX) mﬁ"’t 7o) m“fe

3. Given the polynomial function g(x)=-3x>—9x* +4x* + 7x— 1
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2. Given below is the graph of the polynomial function p(x). Determine each of the following. (12 KU)

(c) Zeros and Multiplicities

”
e
u/

Zero Multiplicity
-2 \
| d
7 J

(F) Possible Equation of p(x)
ys ('x.+:>){?-7)(9c-l’)JL

, determine each of the following. (10 KU)
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4. Sketch the graph of"'g';‘ = 3 2% +2)° 5 by applying transformations to the function f (x)=x>. (9 APP)
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(a) State the transformatlons requwed to obtam g from (b) Express the transformation in mapping
the base/parent/mother function f (x)=x". notation. e
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5. Sketch a possible graph of f (x)=x? (x—5)2 (x—1)3(x+4)4 (x+2). (8 APP)
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6. Consider the sixth-degree polynomial function p(x) =—x*+10x*

(a) Fully factor the polynomlal 3 APP)
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(b) Use the factored form of the polynomial to sketch the graph of
y=p(x). (3APP)
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(c) Use the factored form to solve the
equation —x°® +10x* —9x* =0.
(3 APP)
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7. Solve the polynomial equation x°
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(d) Use the factored form and the graph to solve the inequality

—x®+10x* —9x* > 0. State the solution set using both set
notation and interval notation. (4 APP)
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8. Write an inequality that corresponds to the diagram given at the right. In

addition, state the solution set using both set-builder notation and interval y/=46 4sf
notation. (Do not solve the inequality. You should be able to see the jg
solution just by looking at the graphs.) (5 TIPS ' :
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9. The polynomial function f (x)=—x"+kx* —(2k +2)x+12 has two turning points, "f
no global extreme points and can be divided by x—3 with no remainder.
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to choose the simplest possible value of n. (8 TIPS)
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